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Tip 1. ME#X|2| 7+ H2|S Yolof Bith £3], RS ZLES WX| LA}
Tip 2. A|K[0l F2ISEXL. AlX{lofl k2t CHste] 2b2to] EafEICt.
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Day 6 : Wil=§=

STEP 1 - 74
& 35517|: E2l= 0l & Solution

S2l= 0lF A. T BEA| X|L7F HEL.

— Solution A. 0|2] 2T EX}. ME4X|Z Safi 0]2] AlgHSHIS TiofBiCt

S2|= 0l B. AT E= 2 SUX|2 MEIXIE Gi= =50 TS ZX=2 9017 HL.

— Solution B. MEHX[2| K-WE Zh=C}. K-W2t 2} MEiX|of| SPES Fofsk= HoiCk

S2l= 0l C. ATRELR 2 E0, MEIX|E O $U=0| MEEX] = 71 Sof| 22ISIC T LES MAAHR.
— Solution C. =77} 0! =2[242| ZX|0|Ct. MEHXIS H1 T Hofl ofH 20| LIRS X| Mzl 2ot
Tip 1. ME#X|2| 7Y H2|S oo Bit. £3, YU ZLYS NUX| UL

Tip 2. Aol F2I5kXL. Alx[o]l w2} Chte] 22to] Ealict.

2. ANHIZH K| fd= AIEHXIS 2hEC

— AMIZ 02 HI3sHFH =Z0| ECt

3. Rt O4xfe| YIS 0| MEHXIS THECE

B2 thst 7l o=t
28NH 28/38 E= 383N
e =7| 21 iiFE = =3l 2|1 HjFHO0|22 =7 = F2 21 Cf SHojoF SiCt.
NER] (0} 2) - | o
2l thztof M= MEfX| 02|27 |7t O = S26ITt
JE— 24224 | | 6-BHog
Zl ti=te] ASEE Z0l= RSHO0IC. EHRof ESei,.
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e

& Yol Mo Y

ATEET AH/MESY0)7| 20 THE 75017 | 7nte] X0 Ho[ Zxetct.

L 2SI RI0: HZ

SELU=0| 3UY = XIFTHM SAL| —s, -es7t 20| HZ0| O IS LOILLY | W20l STEP 35 HLE3| SliFF= 0|
S3ICt

4 5t 0]l Hlw5h7|

B2 that 2l chat o
HH A gl 2ENRHAPE X8
AMEHX] (20 =) 6~87H 8~117H
AJRIE (FA) Ciel/Erets EEINE
AIBE (Th3 ) 2828 6~8E1/6~8H
Heto| 27 SHH I x St oy
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STEP 2 - 15 Y X8

2} RO OFX|9t Hofli= T =53 StEAM siE thERIM B2 2E RS2 24

M2 O|F0{ I O|L| Zo|DARIL], & M| E7| TiUS H&C2 SOHM E EHeE 3101. SHEMM K-W Tietstn =7| o
US SO T A MY Fof SHAS Opx|2foll 3 tHol| BISH EH. MEHX|0] 3HA{0| OF Eli= 0| QOH 22X FiMS

TSR . ATBHs T T8 LIR0f MEISHRE 2 9K 27!

O|L| 2o|1IAL

(1) th=kE =1, ofAte] Otx|2f 2ol ciiet JAte] SEHoz 71y Mt As 12AI.

[ ] @ Great. You really did a good job. Z0}. 1 M2k & 3of.

HSHK| Of. L= U0l A £H3HOL.

_|\.I

[ ] @ Don'’t worry. I voted for her, too.

0. 2| ‘=S| L7 2|=8t 7{ot.

>

[ ] @ Well done. That’s exactly what I meant.

O-‘T'-

[ ] @ Of course, you will. I have no doubt about it. AHs| L= Z1= 7o 0] 2fMR| Lot

[ | (® What a good idea! It be fun to run together. Z2 44zto|of! 20| Z0totH XHUS 7ok

O

(2) th=kE =1, JAte| Orx|2f Zoi| chiet ofAte] Sz 71y MEst As 12A|IL.

[ ] @ I'miss him, too. He’s my favorite teacher. M= 71 32948, M7HEolsHs MAMHo|HESR.

[ ] @ When should we visit him in the hospital? K27t x| sl Z271e / HH| U= 25?2

[ ] @ Don'’t worry. Doctors say that he’s all right. H5HK| OFR. At AALI0| LSO / = MR
[ ] @ Why don’t we write a card and give it to him? SE7H7IEE HOIM T0IH F= 7 oE7IR?

[ | ® I'm afraid he’s not well enough to teach again. 2R/ DI CIA| 7122 01E 26| 7126t St
(3) CHakE =10, ER1| DFX|Rf 2ol Chet o4Xte] SEOZ 71 MAst A2 TEA L.

[ ] (@D No. You can't study with us. Ot HE 2a/2 20| B8 4 glol.

[ ] @ Okay. I'll do the report by myself. AL, BIME XM HEA EAR

[ ] @ Sure. I'll call you when I'm done. S20|%. BLIH Mt $AQ.

[ ] @ Yes. 'm pleased to join your team. S Li= 718 / U] Elofl SR5HA| =AM

ro
i

[ | ® Sorry. You have to finish by tomorrow. 24 2O A LHU7EX| Lok 5.

A p. 66~71
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Type B
(1 @ 2 @ %)@ 4) @
(1) ChS &8 H4HS E17, Lucy7t BenOll Al & T2 71 XMESH IS T2EAR. SI=HO)

(@ Sorry. Your flight is canceled due to bad weather.

Z[SEILICE Aol HIHHE EX| o422 HME 2o ZS=AELICH

M7t Z0LM HIJHO| FAE RS L= EO0[0k Lucy7t S8 Z{#0[0{0} O &S & 4 URK|?

(@ Come on. We need to leave for the airport now.

ME2. R2l= SR X|F FZ Etoliofof.

SUCR K|z EL5H0F Sh= EOIL Ben0| Y71 72|12 U= &M & 4= 0L O H2| @H0 M| Lucy?t Ben?| £74= FIZF
2

O
2! RS FFE 4= U0 HIZLA BARIE-124)7} OH L™ BACIE E= TFH)Etks ZO[ok 23 ZEQ X E20l|lM F AZ0| of
o

=
A7 HIAIE]7 | thZoll, H0oi= 3 MEHX|= HEZ XIZ 4 U0

(@ That’s okay. They arrived there on time.
oL TS2 T3R0f| MAIZol EAH01.

X 3XIQ1 IS0] MIA|ZtHof E2EH0ksH= AKSH0| L™ o] E 4 9104,

@ Welcome. Thank you for flying with us.

SEBILICH X8l FBS 0IZaHFAMA ZARILICH

HIY 1S RS W AMR(7)Z URE EH0[0F 2 TM7} SILI2| &2 LFX|. H0IM 2 F{eitts T2 Y 2E0| Rt
oF M QUX|? O] ME4X| = OFEL7EXIOF OfFH 24| ofhut 22l E 20| S OfL|7| 200k

(® Never mind. We can meet on Saturday.
S AZMX] of. 22| YL Uof| BH 4~ Ao

U0 BHe 4 IOL L{=R Al M| 2ati= 210[0F. BenO| BHEK| R3HA] 0IRtsH5H A0l £ 4 QU= O[]

ME-FA|: #3E #HI-T|
XIS7HK| & metk2 shYo(2tH MM o2 Skt HIR7 [of Ciet 00F7|E 5t Qlok= Z HiZ & 4 U0
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[6HA]

She thinks it could happen again if they don’t hurry. So, she wants to tell Ben that they have to go to the airport right away.

J4d=X
of Bttt

= (2 Come on. We need to leave for the airport now.

HISO0| MFEX| 2™ 21 0| CHA] LojE 4= ATt AZIBICt J2hM 2= X

7501712 M2 HCHH 2 AKE 2xoF. FEE2 @Holo.
[F WIH7(]
@ EM2b= Tiof 2210 Glof. YoM 23K 0l, A3

27, o7 | M= 715 #A(0]7] thZ0[0k.
@ X 3Xp7H SIFE[X| fe = 2 OfZ=0i| 0[O}
@ HIA7|E EtX| 42 =00k ATkt @t OFEE IR
® BILIX| Zoh= 20| OfL O

XIOtRt Of MEHXIE X2 &~ U

AIS0| 22 Zatoa 7jof Birfe

Al

= W2 BenOf|A| 2ol 10 4

0f. HI=LIA 27} OfL]2} L=

Expressions

W: Lucy and Ben are mother and son. It’s Saturday afternoon, and they're getting ready to drive to the airport
to go to San Francisco. Lucy knows that they should leave earlier than usual since there’s always a lot
of traffic on Saturdays. But, when theyre about to leave, Ben realizes that his suitcase is too heavy. So
he’s now taking time to repack. Lucy is worried that they might miss their flight. Last year on a Saturday
afternoon, she missed her flight because she arrived at the airport 30 minutes late due to a traffic jam. She
thinks it could happen again if they don’t hurry. So, she wants to tell Ben that they have to go to the
airport right away. In this situation, what would Lucy most likely say to Ben?

QOIS AIO|O|CH EQY 250|11, ISS MIZIAATZ 717 2l 2EWIX| x12
17| Z0l HAECHH 2

202 FHIE 5

5| 24510 Btths 2& Lucy= 21 Uk SHX(2E 230

T 9irk E20E 34 DS & ol
3} SU5/24T & 1f Ben AFAIO| O 7H0| LIS CHS 242 THEHECL T2 i 0K A S04 B2 ThAl it

af
10 T} Lucy= AHAIS0| HIYY 1S SE71EE A6 ATt 2 EQY 220 IHE S MS2=
| —

= H

usual A

raffic TE(Z)

be about to 2t 5}245iC}
suitcase 043471t
repack CIA| 21S MICH
miss =X|C}

flight H|8H7|

traffic jam WS MS

due to 20|
leave for ~2 SY5ICH

never mind A3 MX| O}

A =2GHA XRAQ| HIEZ | SR IHE IS0 MFEX| 2™ T3 20| ThA| 2o{E 4= QUCtn H2iit. T2y
M = XHIS0| ZHIE SR 710k SICh= 242 Ben0i|7| Lal = H0] St 0] 22H0IM Lucy= BenOi|7| £zt
LS SHETR
(5]
Al S0l 7H=X|, BenO| 01| AlZtS =X |0l CHEt HF0] LIt US|, SHEE & =7| o= HF200M O Y&QIX| tizfXo= ot

ZEL|7H20[OF.

*A0fof st Opx|2p 2T AL EX|H ZHE =

=EZE ORIGINAL 2022 — orbi.kr
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>

CHEH =
» HHI‘E x-ll:l-

O|L| =2o|1At

1)@ 2@ 3G @ ® 5 @

©) @ O] @ ® ©) @ (10) ®

(1) =t =11, iXte| OFx|e} 2rofl theh gAtel SEez 7HE MEs s 1242 e @

(D Great. You really did a good job.

201 4 HY T ol

ﬂ.I

OfXI7F RHL10] OfEH U St TS M BRI RS Sh= F

o

oxstA
e Qlol.

@ Don't worry. I voted for her, too.
ZZsHX| Of. L= JLof|AH| F23H04.

M 3XIQ1 ‘her' 0] SHBITIT RFE 4= QL01. 'her'2 OfEH M70l| LIZES 20112, Ch3te| OfXI7F 27} SMEX|of Chell Z4ES SIRY, EXI7F A}
A "her O[] SHIUCIH AESHK| L2t Yoks ool orgnp

(@ Well done. That’s exactly what [ meant.
0. 2| oA L7t 2l=5t 7ok

O MEHX|Rt eS| FALSICE

r|r

A Y o UOJ. 0| MEX|= 0|2] HHM ZsHOFICH M2HS sHok ot DI Ea| @2 "Xt
HSITHZ X7} O LS Bt &M £ = U= Z0[ok OHEC 25 T AL &M 2 =+ UK.

@ Of course, you will. I have no doubt about it.
Yo = 2 7{of. 'F 0] ofMX| Lot

OIXt7t ApAIO| 2 SX| 2t i, g AMIZ B0f QfMX| =L SHEEHF= &M & 4= 4= ZO[ok FI=2, 017|M 20| E0tetct
= 2 20| L7t ZYSHRH= 20| ofL{of. RE|Lzh= HFgnt RERY = 3l FE|EE M2 E= Z27H oL B 0= 22 32,
P % P

OffHt MAHE & [ 2| T-F 20| 20| B2 HH0j| LIt 20|

(® What a good idea! 1t1l be fun to run together.
Z2 Miztojof! 20| Z0tstH ZHUS 7O

23 O Y7160k all. 0471 run’2 O M740fl “E0ksICH2k= SE0[of. Qo
A

O
S S5 4 UK. CIXH RO 20| BUISHIL BOIS 1 & 4 U

ﬂl

200}

66



[Cell phone rings.] confused EHAZHS
ST AR 7FSRICH] misunderstanding 23H
M: Hi, Cindy. It's Danny. be supposed to ~

-5 o
OH4, Cindy. Lt DannyOF. =~2olEel
individual 7HQ1H91, Z+2+o|
W: Hey, Danny. How are you? i |
absent ZA4SH
24, Danny. O{EH| X|L{?
that explains it
M: I'm fine, but a little confused. I'm in the library, but none of our group members are here.

= T2 3 AL
E X|LHX|RE, 2F7k S7tA Q] EA0]| 2t QU=C, P2 1E HWH S 0FFE o470 giul. it's not a big deal
W: What? You're at the library now? We're not meeting until Thursday. = o} (2 7 OFL|op)
F2t0? XF EAf2t0f ACt? ZQ0] =|0{0F 2 of ook
M: Really? I think there was some kind of misunderstanding. I thought we were supposed to meet here at
12:30 this afternoon. MEHX|
U 2L Q57 QIUE 2.t R27H 25 25 124] 30201 017|A] THEZ |2 =|of ATk MZIH0]. probably not OO} OFel 2
W: We were going to, but we changed the date because we needed more time for individual work. see a doctor EH2I0f| 7|C}

1231 KR JHRIMRI RS gt AlZto| o Rl ERE HEHOL.
M: Huh? No one told me about it.
37 OFF= LA 12401 Thah 2eHTX| LU0,
W: Don'’t you remember? We decided that in class last Friday.
719 QLE? Xt FRY 4~ AlZtoll 2Z A FHIHOL
M: I wasn’t there, Cindy. I stayed home sick.
't 747101| €1%401, Cindy. 't OFmpA Eof| UXATLOL.
W: Oh, no! That’s right. You were absent last Friday when we changed the date! I was going to call you
after school, but I forgot.
2, 0[21! 3o} 22[7H YME HEE X't S0 Li= ZARUAX|! LH7H Lat 20]| Hol|7| TEIE Zain A=), L
B0l
M: Oh, that explains it. Well, it’s not a big deal.
Of, 22 A =IALE 2, MO}
W: It’s my fault. I should’ve told you earlier.
LH Zt30[0F. LBtE| Cf 2% L5 0{0F Sh=E.

[aH4]
AR S2U0 ZAS sHM 6XP7HHZE SWE L2iF0{of sh=dl, J2iX| 2ot A=oloF. J2{L| XHhle| ARUS QI™st= @HO|
KO0k 2xl= 2RI Z25tIHE0| QLoIA T HOZA|. B2 ‘until'of thSt 274H0[OF.

We're not meeting until Thursday.

X}, CHEEO| SHES0| 20| BAE ‘R2le SRUMK| THLIX| oh=Ct 2t shAGH. JZCH A BiLke 27k S2? Zih OtL|of. o|ZH|
‘until'0| ‘not’ T} Zt0| M M= QS 5t A7} QI04. ‘not A until B'= ‘ASIC} 12{H BLE 2HT 3HAI5H0L Y. [EtA, 9J9) 2R ‘2a|= niut
Ch J2{H S220[Cl’ &, 22|z S220| Z|0{A{of ZHACE 2t siAsHOFSHE 0t B 7[f6hR. E7ILt SaH2| L8 UX| F= =H R
oA O] 222 71=2|H Ct LIZFE0E 2~ o]

[F WIH7(]

O ZA8t 0|77} OKZ AOIAKIZE, 124 Tf X|ih oo
@ 235[3 7|CHl A2 "XIok

@ OftH 0]l 7H= o]l ciet 0|0F7 |= 15 OfL{of.
® Fa7t 2t 0[0F7 |£ Sh= A= TS| OfLIX].
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Day 7: = AIAH (1) — =251 | & 10% AlAHH
Day 8: = At (2) — m{E
Day 9: LHEHY E&

Day 10: &7t 1t Fgf

A v CHEFIS BRsH=at LIS 210f ©) OJF| T #ij (IS See
o SHAOR IS {0k SHIZOA ool o
a

dl, Hiz E3lE 2sk= = Mok tF=22| SdS0|

S21 Z30| UXKI? FOt KON O Sl SHIST US 22 £ =X
£ £ LQp Fogt Sctsp LIQx[R! B HRSS w2z 2o 10| of
3 S 275H= ofzi2 2RI Y0l BHIE| HE0| M9 SNSE 5

5 Sol= 230Dk SiLi) HRals EX I XIHY 4 U1, E 0f2]
7R B W0 A ASE 8 TKSAIE S0t Bk HoleS £25 &

o 4 Ol QIS S| IEIRIOIM TIERE] BRIIK| A WAl AT

HHE 250f Z8tx|o] = O|L] 2O|TAt 0|2|0l|=, Day
100 57} Dt 232 12 MoEtoL] & o ofzfe Hol=of thulskn
Al2 SPS0| Z0{=IH S20| © Hok J2{81 OlK| ARIEHEAL OfH CHRle




= A (1) - Hal517] & 10% Al

STEP 1 - 714
250/ M= o2} Z40| S|,

6. L2tE =1, AP X2 3¢S 12AI2. [3F]

D120 @8$140 @ S$160  @DS$180 (B $200

6t = EX|7} ==0| B | [3E|0lof 22tF BI = B Z10) oA & 4 UL, B2 sy 2T AR
HO[X|. CHERE ATHoil M 23UR0| 2HelohA| ShEsHR| B2 HMER| 2 4= U0, 92 SPUS2 B0l SHEX| FUS +
U= ZZisHH oF 5. & S2|X| ph=rin H2iel7| 2o EME B0 I OF S0{=tA] 22 7{of. 1THE D ORI 2 E2= 0]
01| CHo HX 244t 0fl Solutions HiE 740, 270i| 0|2 R EMIE 0L} 7| IS SOHA ot ZAM 2T .

1. CHEIE E1, AP X2 S T2

D$500 @$600 @8$700 @ S$1,000 © $1,200

2. U2E =1, AP XI2E FHE 12N

%560 @8$700 @S$1,100 @DS$1,400 & $1,540

3. IS E1L AV X2 & NS DEAIR.

@ $66 @ $94 ®$120 @148 (®$160

4. THSIE 10, HAPH NS 22 OXI0|AH| =00 & SAUS TEN|Q.
@ $18 @ $20 @ $36 @ $40 ®) $50

5. 0SS E1, AP XSS SUS T2,
@ $9 @316 @ $18 @ $20 ® $27

6. U= =1, A XSS & S 1=

@ $230 @ $235 @ $240 @ $255 ® $270
FE2 U2 ozl FAMofl oL o7&t otat ChEEe| shiS0| Hitoly SRS 70k 2o 20| EXCta 7I=X| otz
|

& o1& l—fg UCH=E A= EOZF7| HeliM SE3| 022 2MES 22! U2t OfH HHEH0| ELta LM = EH(0lM
S 22 8= 70k 22 O|H| L=lS0] E2l= 0|RE LotE 7H=4.

* (D/@/D/D/B)/@. 0| 62H|= Day 9 CHEH 22| O|L| 2| TIAIR} Day 10 7t THE 2X|0f| 25 $2E(0] UOL| sHAES Tl 7HA SHQIsHZH =,
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= HIl= Th2jo)

B | 20mnx2

S 5/s/d x 2 x 1 -10%

F | 2
E2 SS0| =X|= F20[0F TH7H FOHX|H & X0{0f of. S2 2UXIE MOFX|. H2 SHES0| AIRE0IA SE AHS
ER0IA R0, EE2 71 x T O|2A| At 27HE SotH El=0l, 2R | At 07} O LIREM KAE7t 3707t E|L| &
2i5t K|, Ptof, IS MEUCHH F ol /501 sHESk= <At SHLL, /d0f| siiEot= CHE <A} oiLiZt LEZ 72t= A= 012] oflef
ol ({3 Blo| EXIE & == UUS 7ok

JECHH ol S20| Sy O EHO R LIQ=X| LU0tEA}L 25 J|SE HS0[0F
1. The muffins are $2 each, and the apple pies are $4 each.
% 2.1t’s 10 dollars more per person.
3. It's $20 per hour.
* 4.1t's 2 dollars per scoop.
5. They charge $10 per item.
* 6.1t's 30 dollars for the whole cake or 5 dollars per piece.
* 7. They're $5 per set for one day.
8. They're two dollars per 100 grams.
9. It’s 30 dollars for an adult and 20 dollars for a child.

% 10. The admission fee is $30 per adult and $15 per child under the age of 12.

* 7} HAIE S| C3t %7 MBS SIS,

2. mored|2l= HHS EA|H 3 Lt BHa5| 71240 10211 1= 20| OfLI2} L2 SE 1} | makm Q= 7ok
Ol I ZE SZ0| SSUCHE O] S22 $107} 01 $157} Eli= Hx|. S2)= 2|90 2 2H|E 23 O 5,

4. perscoop (010|AT2I0]) 3 Z2{0|ats S201H| Sate ARIIOL. TR 2T QIX|5HTH B,

6. whole0|2t= BEIS ZQ4. 71|0|ax1 USE HOJLYA DHs SE} BN M BFOR, 2HSH SILEH
af. we w5tz wes o CHAS| H0| 22 SAIGHE HRAIHE 2 M7t Hofri 4 )
2 524 QIEE Mg HEOL| 2 Sofst

7. QO CHERI? 917 Bl } okl 4 QUChs & SolsheE o,

10, THI0] RZH0] £ HR0)= 2 Hajshok 8.

0 0|2l0i|= 0424 {7t U=, FolM 2K ZHIE ST B ALtZ 70

QEXO OkX

i 1

2 35t 7ok

1.2/e, 4/e
* 2. 101/p
3.20/hr
* 4.2/s
5.104
* 6.30/w, 5/p
* 7.5/s/d
8.2/100g
9.30/a, 20/c
% 10.30/a, 15/c (12])
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Tpye A

MSRE 27| s SoHAM Felst2t 5tH FH5| 0 EX? 227 | =0 ASEES HHM M| Felske a2
WX & 7ok EHME Fa|7t 2GS o 2ttt SoHM= HiflZ S7IS3IK|? Hels AT EE of2ff W2 S2Hfl 5
™ of. o H|O|X|2 CIA| SOI7HX| 20t= E|AIE Heloh= WA T EHEZ. 12 2MSE2 2d & 4 UXIZL 0242 22X
=2 YIS ofX| ¢ EH £ &50| FE =0t J2{L| A& 02z SEoiEAL

SE1 J1yeel x4
2Z) J1Z/CH| x £2F a0l
B 20mhx2

S 5/s/d x 2 x 1 -10%
F 23

(1) ti=tE E1, 6P XI2E S I12AQ.

®s14 @ $20 @ $24 @ $26 ® $30

W: Bobby, what are you doing here?

M: Hi, Rachel. We're selling T-shirts and mugs.

W: For what?

M: We're raising funds to donate books to the library.

W: That’s really nice. I'd like to help. How much are they?
M: T-shirts are $10 and mugs are $4.

W: I see. I'll take one T-shirt, please.

M: Great! What size are you?

W: Usually a small. I also need two mugs.

M: Okay. Would you like a gift bag? They are a dollar each.
W: Sure. Could you give me two bags?

M: Alright, here’s your T-shirt, two mugs, and two bags. Thanks for your help!

B
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ol

() th3iE £, XD} XI5 UL T2AR.

D300 @3%360 @$450 @DS$500 (B $540

r

M: Welcome to Green Valley Amusement Park. How may I help you?

W: Hi. I'd like to buy some annual passes for the amusement park.

M: Okay. We have two kinds of annual passes. One for the whole week and the other for just weekdays.
W: I see. Then I'll buy the weekday passes. How much are they?

M: 200 dollars for an adult and 100 dollars for a child. How many passes do you need?

W: Two adults and one child.

M: Okay. Weekday passes for two adults and one child. Is that right?

W: That’s correct. Do you have any special offers?

M: Yes, we do. You get 10 percent off the total price if you are a local resident. But I need to check your ID.
W: Great. Here’s my credit card and ID.

M: [Pause] You're all set. I've applied the discount for all your passes.

(3) CHEIZ E1 AP} X2 & SUS T2

@ $6 @ %9 @ $10 @819 ® $21

=]
=
r>
o
|

M: Hello. May I help you?
W: Yes, I'd like to buy some sweets for my kids. Which is the most popular one?

M: These jelly beans are the most popular. They're two dollars per 100 grams.
W: Okay. I'll take 300 grams. Can you recommend another one?
M: How about these bear shaped ones? Kids like them.

W: They look tasty. How much are they?

M: They're three dollars per 100 grams.

W: I'll take 100 grams of them, too.

M: Anything else?

W: How much are these coke flavored candies?

M: They're one dollar each. Kids are crazy about them.

W: I'll take ten of them. That'll be all. Here’s my credit card.

M: Thank you.

>
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OjL| 2o|AL15]

(1) CHetE =11, AP XI2E 2UE 12EAL.

@® $27 @ $30 @ $35 @ $36 ® $40

(2) tHetE =11, 6AP} XISl FUE 12EAL.

Ds140  @8$180 $200 @D$252 B $280

=]
=
r>
o
|

(3) tHetE =11, AP XI2E 2UE 12EAIR.

D500 @%$600 @8$700 @S$1,000 & $1,200

(4) th3iE £, GAD} X128 5 2N D2A.

@ $66 @ $94 @®$120 @s$148  ® 8160

(5) thelE £, GiD} RIS & 2US 12

Ds144 28148 Q150 @154 B $160
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(6) =t E11, A ME 22 GXI0A| F0{0F 2 SUE 12X

= O

@818 @ $20 ® 836 @ $40 ® $50

(7) LHBlE S0, YR} 225t 24 7f02 3t hof| X|28 22 1=

O= L=

@ $60 @8%120 Q@$250 @360 B $400

(8) LHEIE E1, A7} X |28 FUS n2AQ.

D140  @8160 @180 @DS$240  (© $260

=

®$8 @39 ®$12 @ $24 ® $27

(9) tHEFE =11, KA HHE A2 YR 00k 2 SUS TEAQ.

(10) H2tE E11, HAPHE HAEE2| de-E TEAQ.

—_—a— AT = 1=

D $33 @ $44 ® $45 @ $55 ® $56

S p. 111~117
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Day 9 : WEREE
) hiE B
O|L] Bo A 13]
() @ 2) @ 3) @ 4 @ 5 @
© @ 7 @ 8 @ © @ (100 @
(1) CHEtE =11, AP X2 FHE T2A|2. He: @

Expressions

W: Hi, Mr. Gold. You look busy today.
OHISIMIR. Gold M. 2 Htt 20[A|H|L.

M: Yeah. It's one of those days. How can I help you?
dl. a2 SIRU|IR. O{E =2t EEIR?

B
W: I want to have these coats dry-cleaned and my skirt shortened by two inches.

0| ZES2 E2{0[Z2| 51 M AHEE 221X £0|12 LTt

==

M: Okay. How many coats? Each one is $10.
LASLICL ZETHE Ho|x? FE SHHY 102 LICH
W: I've got three coats. And how much is it to shorten a skirt?

MEUCE 22| T AHEE E0l= W2 ¥

= AT EDI'ZJ{—?

M: It costs $5. How many do you have?

SE{QILICH H Ho|&?

W: Just one. Oh, I also have to pick up my son’s soccer shoes I dropped off last week.
S LTt O, X0 M| oFS2l Z+1at= Hot7tof Lt

M: Yes, I remember. One pair of shoes, right?

4l, 7|5t USLCE

ot
E ML

oF e, JHUR?

W: Yeah. I think I still need to pay for the shoes. I forgot to bring my wallet last time.
. bl gztez== 1
HER.

M: Yes, it's $5.
4|, 272 sErLICh

W: I see. I'll pay for everything now. Can I use this coupon?

UASLICE X H LICk 0] ZES ABE 4 QUL

= MR XSS t?

M: Sure. That'll give you 10% off the total price including the shoes.
S20|&. OAS AHE5IH ALS A6t FA| HIZ0H|M 10% SIS oM = JSLICE
W: Thank you. Here’s my credit card.
LAFRILICE 07| H| AZ7 = LT
C 10/e x 3
2in S 5x1 -10%
Sh 5x1

[aH&]
XS0l oAt ZEQL AFEES A5
ZE2L7H 0|0k O ZH[0llM= Crtis

MO[X| L2401

AIol| CHl GIHS] (MEHIS) XI2g 227t U= A Z2UIR. X[HHol| XIS

[ ‘two inches' 211 2taH. 0|21 Alo 2 AH0|| Ot 2X|7} LI2CH

dry-clean E210|Z2|'d5ICt
shorten (Z0|E) £0|C}
have to GHOf SIC}

pick up (2671 £742) Zr}
drop off (2712) 27 ct
last time X|'=HEHO]|

including 2 8l6HH

It’s one of those days.

LIE =

=13 =S S/ 5IRUIR.

pay for everything

XI=5ict

= 7o
=ERE

2= A DU

. AR MUK

2|1 Mol 221 AMEE ZoP Itk 2ot e O X125tk Ret =k S| AIZoHITal L] 710l ZefA|7{ FHoksh. Hale =
Skirt' Q| St ZX|L| ‘Sh'2t 1T AFOFX|?

OFX|2fof LiQ= Sl et #3= SR8, AlLhS =alsh M| FMoiA RIS st JH0J. 2Hf0 ‘excluding0[2k11 FACHA ML X
QY5 FUO| 10%E YlsliZE ChZ 11 M0l $55 TisHOF Sh= 7Ok
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1/3

X
S St 15ex2 -10%

[aH&]
O A= Li7t 20171H0i| SEpt oAl +E& 2X|0F (8)H 2XI7t 2018 9& EHofl EM=IRA2L] LH7t0[o] 1 Fof| EXet 24|
O[X|. B7HEOIM L EMIS 210 HSAS 2l= gled, 23 L7 EXIE Mizfehs 2Hnt B7Ho| 2MIE MElsh= 20| X [HCH= Kol
OF. 22{L| F0fl LI2= X2 ZHEE O{FECI SYSHK| 211 oS 53] &flsh. oI LISX| 22= AU 2L
OR7IRIZ, 22 71721 25 F i 301l Stfol 20% SIS Btz A, Tx| $30011A 10% YIS she At Zo8 2 $270F Ha2|E i,
A ZEIE ol
22t OfL{2} O ZX[0l= (6)HOllAM CHE 7 IEEHIE B LTI 20| Lok (6)H0llM= = HOoIM 20| Ak= <202} Tl pay for half.”
2h= ER0| LIRKO|. SHX|2H L= 2L EIHIOIM 24 23S ZEE Hats WS 57| 20 30|M LIFAM Ats d&ez EZHE o
01, ‘half = Hes] BFOJ2k= SE0[2kM HLS| YsH E4~ EE10] OFLIOF SHX|ZH one third = '1/3'S Soh= &4+ E310/0F. OFX|2{0f= O

Xp7F RO RS LHY ZCH2 5, JustinOi| 7| = Z2YS Le{Eati 513 Q0. Ofot Justin? CHae| HA OV I CHE HSHO|ZX|?

rol

=5 HoI0f ol 22T Ot el #5 BHM Zo E310]| ok 2Oot2 =5 SlAL.

1/2 = one half 1/3 = one third 1/4 = one fourth, a quarter 1/5 = one fifth
2/3 = two thirds 2/4=1/2 2/5 = two fifths
3/4 = three fourths, three quarters 3/5 = three fifths
4/5 = four fifths

> 2= TIRERD + MER) 2 HH.

7|42t ‘one, two, three, ... = 250, A2t first, second, third, .. 2 U3l. 7|4= 7|2, 4= 2A0|Z2A| 2™ m5|.
» 1/2 22 AL ‘one second 2} MX| 411 1 ‘one half 2F11 M.

EX17H10] OH! BR0ll= FO| M0l 2] 'S5 204
> 227tH491 ZL= fourth’ CHAO] ‘quarter(FE])2h= T2 F2 M. FE X7} 1/40|2k= K2 71X 0.

STE Z4HEZE 0|F0K U0 T2 =2 M= BRI FE7E U0 1R(El= $12] 1/421 25MEE s,

5. 2ot oAt XIZE =
|2 ZXHIE 2ol Atof LK
dl.. 2= 7 Hol M

017|M 23| O o{ZAH S 4= U0 6Pt S U1, IS S0IM 212 J2 =9 B4 L= d&s ST
S S0 | Z4o] vho| HEY BT, HAP K28 E2 So{=H FA 32| 1/40] FEO| = 7o} 23|
ORIt 2HS A| #at I 2ojj2t AZEA. (9)H
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Day 10 | U U=t

D) e FE

OjL| oA} 23]
DR 2 3G “ @ 5 ®
©) @ (7 @ HNE) © @ (10) @

(1) HHEIE E1, AP X128 & 2HS T2A|Q.

N=HE)
Expressions

W: Hello, can I help you find something?
HISIMIR, 271 = A2 EA=ENR?
M: Yes, I'm looking for a scarf for my wife.
Ofl, M= OfLiofl A & AFHEE 1 JELICE
W: How about this brown one? It just came in this morning.
0| ZM AFIE = A{HAMR? 25 OFRlo] 2 S0 ZALCt
M: It's very beautiful. How much is it?
ol 2. Hots?
W: The regular price is $100, but you can get 20 percent off today.
HATHE 100X @52 20% SIS Bha 4 QELICh
M: Great! I'll buy it. Oh, I have a 10 percent discount coupon. Can I use this as well?
Z4IQ! 3 AAR. WAl 10% 2l FEZ0| A0{Q. 0| A= 20| AIZE 4= ALKR?
W: Sorry, sir. This coupon cannot be used for sale items.
ZISEILICHL &5, 0| FE2 MY ES0I= A S 4 S&UCH
M: I see. [Pause] Hmm.... This purple one is also very elegant. Is it 20 percent off, too?
ASLICE [RA 5] 2.... 0] BatM 5t 12 S0IBHHIR, THE S| 20% SHOIE|LIR?
W: No, sir. All items on this rack are not on sale. This scarf is $50. You may use your discount coupon for
this item.
OFlLICE £H. 0 Zolofl U= 2E FFS2 MYS otX| RELICH 0] A7E= S0HRILICE 0] =0 ChsliM= &
Eo| Sl RES ALZE 4 UBLICE
M: Great! Then I'll buy that brown scarf and this purple one as well. Here’s my coupon. Could I have
both of them wrapped?
Z01R! T2 X ZHA A7 T O XZRA AT S S| 7|2, FE2 07| U0IR. OX = CHEZF R 4 ULIR?
W: Of course. I'm sure your wife will love them.

=E0|%. &2 OfLiE0| AXRES S0I5H 72t SHAIgiLTt
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2 4719 THEFH SollM 27HE EX01. 7H BO| E2l= RasEs EXed
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STEP 1 - 71

S
rE
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K
S

Hz S0, QHE S| EXL. @HE L7 ©HO0| ZO[3L.2!! R{0F? 2l ©HE SEX|?? (HIS)

0] £7[0ilM o] Alez 81 1 0|F= HiZ =719] $LE(Es 2aly) HZ0[0F Saliet H2| =7|= ¥e=

== T L7 2= B HojZ 5{0f §lod. 0IZA| =IH HIS0| 2t Foll & ZHEE & 2 S2|A| =l Aet

B0l= I?.*% Y2 4 01 0] o[ QU2 2F ZZKX|?? J2iA 0 A2 BI0| E2l= a7 EX| RS Day 13014
UX| R3S Day 14, 150 M CHE 7ok

2= HiE 28 UX| FY2 flet 20| 4Ho 2 EX|kl= 700k 23] S| H2 7

UL EtH Z2|7 |2 5, AAZ |z X7 |= off. 20| & AEE2 A, S2|1 LHE O dap EH ol HE =7 t=E
ol S20| B0iXl= std=2| 7He 2 EXIE0(0F. 2f A5 =Xl mfelstx| 25t o7 2 X]. 4
SOl &SR] ZEt f QUL (AT af) 3. 2 20| BEX|2H K| = 2= P2 Hol7tA THE RS IRV IK|Z S2
= 0|RE LotE 11 T10]| CHet Solution7HX| Ui =X} )

*
A Tt SU=H FEO| 8oL
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B. Q451X| 942 Of3l2t E30| Lite.
J2i0f U= 2712 Foi2 Hatn S| 22E PR 08,

150 DAY 13: 212 2%



HiE 2] (2)

STEP 1 - 71

0| Solution AZ HiROL| 252 ER

@ Solution B
I-lxl E|||_|A M 7|. PSE] I§v|!|:|._

O|ZIA| 1 A2 AX|? Lo} SOt TG SA| HE H|L|A &

=
&

= 0|7 B(2=3HA] ¢

= 710t BRI 0[21 LIS Bfers of

=T
= YRl THO| TS EFet 2, 1 thioll et LIRs HOSS FRIRI0. HA, UX|Y T

2 03| E30| LI”IR)0] CHE! Solution BE HHYE 7{0¢.

EILIA M7t HRIACE

M0l M HES G012 0h= Al &!

2H0
9|

before? 2, OfL|Of. FA! H|L|A MZ~= former tennis player2t H3I5H. O|%& Solution AZ BHRCII SHE OIS
74
=

=2 4 01. 0/of| CHEF Solution2 2& HOE HO| 2= xI? ZLEHM H7 1ol Eﬂl

HAI‘

SA} m2 2 o7 A
National Banking Competition Sunstone City Library
Bluemont Salt Mine2| £ SHA} Megan’s Bite

Kaufman Special Exhibition

Orange Tree Day Care Center

Green Ocean g3} AALS] Pine Tree Family Park

The International Air Show Creative Minds Science Club
2018 Upcycling Workshop Community Closet

2018 Youth History Tour Bamboo Pond Restaurant
Global Design Conference Global in Action

10th Special Lecture Amazing Art Lovers

Science Quiz Olympics Lovely Cover

Art Museum Fair

Summer Camp S AS
Science Essay Contest Bonobos

Presentation Contest Four-eyed Fish

P (=] = Tasmanian Tiger

Future Lawyers’ Internship Program

Sausage Tree

Pacific Language Learning
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(1) Sausage tree0f] 25! CHS LHSS E10, URSHX| 2= S 25 N2A|R.
@D H|7I 95 Li2|= 20llM = F2Lt

@ 'WZHM 20| 5H7} £ f TCH.

@ 22 50| O|20{X|H 11CHS i OFEI0] Hofict.

@ nl= Mmg 9 20

© XFUS2 ABS ZOHH7| Pfsh Sof
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o
o

(2) Maple High School’s Group Presentation Contest0f]l 2t6t C}2 LIS E11, YX[GHK| L= AS 5 T2A|2.

@ Lig2 et= 230l 25 240[0{0F BIC.
@ ZE=202S Z6liME ¢ ElCk

(3) 2014 Photography Seminard| 243t kS LIRS E11, UR[SHX| = HS 25 NEAQ.

@ 62 1UEE 62 627X E2|= SAL0|C}

© 100H0| E= ZAPHCHUSH MZ 20FE CHE GI-0|CE
@ Z|ATAREI ZH|of| CHEr &FHO| 42 ZAo|ch

@ T31et O|H|UE Safl 0120 7k ot

® AR HZ shdiz a2 27t 4= Q.

(4) Spring Swimming Festivalofl 25t OIS LIRS E11, UX[6HK| Y= 22 B5 T2A|Q.

D 3& 2720]| Paradise BeachOf| A EZICt.

@ gdel7| Z2a30] Uct

@ G U3 27 AFE FY 25 2A|RE{O|CH
+F sl= RE2 FUISHTt

® 22 YAO[E0f| A AIX5HOF SICE

(5) Pine Tree Family Park0f| 25t CS L@ 11, UR[SHX| Q4= XS 25 D2A.

_,_

(D Evergreen 84 0] {IX|5t2 Q|
@ 2713 Ste| B4 R S CHA| 7H’é FIC.
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1)@ 2@ CIRO, @ @ 6 @ © @
(1) CH22 €1, A7t oh= 2o SO 2 T MAEet AS 2. e @

W: Good morning, students of Allison High School. I'm your vice principal, Grace Miller. Allison High | vice principal mZ} {42

celebrate =5}5IC}H

School opened in 1926 and is 90 years old this year. To celebrate its 90th anniversary, we are planning
anniversary 7 |G

to hold a hiking event on April 11. Ninety students will be invited to go on a hike with their teachers to
hiking SA

Mt. Solice near our school. It might be challenging to some of you, but it will remain a treasured memory )

challenging 8l=

for you. If you want to participate in this event, please sign up on the school website. First come, first remain CH
o

served. Act quickly to be a special part of our school’s history. Thank you. treasured AZH

memory 7|
participate Z0{SIC}

=
7HI'|.of049 SOOI SRR i 907132 Sstst7| Sish 22l 48 1120l SAt BAS & AZIULICE 90Zo)
_ sign up SZ5{Ct

SMot= ol ZiE HYULICE 0|22 o2iZSE & R0

_|0II
IlIII'I
=)
l_l
_°
x
0x
oc
upn
A=
g'l_l
?T
|'>
o
I'I

_ L first come, first served
Iofo@ 42 ZiQILIT O] Aol Foist | FSHCIRI, St ZH0|XI0|A S=H

7 =
Hlﬂ-*d"i.ﬁ ILIC} Stw ol HAte] SEHot USRI} E|7| M Wa| SEIATHL.

=

(e X]]

@ St st Exfof cho st

@ 7hm 7)'E AL O E BRsIE T

@ St Al QA OIS Y5t

@ St A SMZ 0[ES 2t

®© 7l 78 At 2E HES SXlotH 1

[aH&

HAIS Al=lotar rtn 2ot Sof|, AL Cheh AIA HEE =10 01, T-SS MU=z SUCHH FEO| @H0[2k= XS 1ol #hlgh 4+ AU
O1. SHX|2H 0 R0l holf LI2X| e 2 0] 20| LiE W7kK| S0IFE= Al QHX6H. A, Ef% MEHX|7H 25 B 7FS 80| ROt 2
Ol & EX| $uME YEHE HE = AUKI2 Day 119] (6)H 22 2ZHIE S2|X| phe2H 2HasA| 51 Foi7h= A Z0t

[RF wI47(]

@ Yt HXIE oixl xhsh SO S0 YT OlF= SIXI? ol XPL et

@ AT SA0|XIZH 22| ArRtoll CHal Lot AX| 220t

@ ‘M. Solice near our school 2= H510| LIRX|Tt Ch5H M LHRQ 82010}

® L HZAol| ChsH Lt22{™ ‘we were planning 0|2h= E510| LI2TA, ~5t A &lg #i=0|, ~5t 0|R2 YH0| HPZRSLICH 2= &
0| L_lof aH. o7 | M= AlM|S| Z2-0] Ltu|?
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(5) thetE 11, J0|A chate] LISt UX[SHA| = XS 25 D2A|2. CEHOIOIO)

W: Honey, I'm finally done with the wallpaper drawing for Shelly’s room. done 2=t
O, X7t OFZILY Shelly 2hof] £ HX| 12S MR, wallpaper EHX|
M: Great upper left 21Z% 2|

raise S0 S2|Ct

toward ~Z Skl

Z012.

W: Would you look at it? Then I'll email it to the store to have it printed.

branch 7}X|

HIFAIOIR? TJ2{10 LIM H7E 3RS QIfa7 | 210l Z7HAI] o|HI S B-EAHIR. grab FiC}
M: Sure. Let’s see. owl 2200|

=20|&. FAIC especially E3|
W: @D I put sunglasses on the sun in the upper left. How do you like it? way &4

= 20 2|0f Q= EfQL0]| MIBIAZ MU0, oI R? upside down 732
. .. the most 7|2}
M: @ Looks great, and I like the elephant raising its trunk toward the branches. back =
ack =

87| £0t2, 32|11 M= A7|2|7t 12| BE LIRVIXIE el 221 U= Al 020 S0
W: He's trying to grab the leaves.

A HoT 5t U0,

d=¢
M: @ Oh, there are two owls on one of the branches.

2, LIR7HX| & Stofl & Ot2|e 207t AR
W: They're so cute, aren’t they?

OS2 B AL, X pote?
M: @ Yes, and I love this monkey, too. I especially like the way he’s hanging upside down by his tail.

ul, 22|1 XM= 0] fS0|= YU 0kZ0 S0R. XM= §3] 27t 12|E 01838 M2 oiEz] U= 2Alo| 0k20 0.
W: Here’s the thing Shelly will like the most. As you know, she loves rabbits.

01740] Shelly7} 7FsF ZOFEHRH 5t 0L, YAIE OIACIAIL, JHE E7IE FL Zol6e.

M: B Ah, that's why you drew a rabbit on the back of the giraffe.

of, 20| g4lo] 7[2lel & flofl E77IE 17 0|R= L.
W: That’s right.

2ote.

[AMEHX]]

@ HENS #AI32tA #RIZ 9

@ #32ne| #g2 Y #38 50| 2
@ #RHO| #5 Of2| #UtZ S

@ #HUSO| #LIT IR #3t 202
O # |- #L2 = #S 2ol E7|

[sHad]

@ A2 L2 UX[SHKIZE OfAe] LS UR[SHX| 20L LIF0lli= 0] GloY. TBITH HEA F=E3 4= T F20(0F. 0] ZXIE ZAI5H0F 5H.

@ ML uHstH EX0{. 5 Ot2|2] £H0|7t 7EX|0f| H0FU= 2 HOL SHX[TH SHELL 7EX|0H| 0FUX| 2ot ZIXt CHE ZEX|0fl QAOFUX.
OtoF Lk ‘on the branches 2t O™ 22|71 A7 |X| =0, 0] 2X|0| A= BHEISH| ‘on one of the branches' 21 2531 Q0. HHIZ}
0| RS 7iE2l= ExVt L2 Hid, LIH H2 ol E2 7zt HEal.

@ ol M= 2|7t of 8t &2 oiE2 0. 2L 72 i UThs 22 LX[SHK| g0t
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Type B
(1) @@ 2 00® CROIA]6) 4 @0®@ 5) @®

(1) Amazing Art LoversOi] 215t THS LIES =11, LX[SHX| f= s 2F 12AR. QB @

M: Good afternoon, everyone. I'm Mike Howard, the head of the university painting club, Amazing Art | represent CHESHCH
volunteer XFEAISICH

Lovers. D I'm very proud to represent this amazing club, which has 43 years of history. 2 For
community

the last 10 years, we have been volunteering in the community. @) A week ago, we were asked by
=X|%AlE], SSH|

the city council to paint pictures on some of the factory walls. However, we don’t have enough club

city council A|2|3]

members to do the job at the moment. We need more students to join the club. @ We're looking for _
at the moment SAX|

new members who are majoring in art and are enthusiastic about improving the environment of major in R

our city. If that sounds like you, please give us a call. & Our phone number is posted on our website. | enthusiastic ZAXI0I

Please call soon. improving 7HAA|7|C

sound like ~X& S2|Ct
. 45 St i 3|xEMj I SN =235

= 0212 OHASIMIS. St O]& S0}2| Amazing Art Lovers2| 3|%} Mike Howard@IL|C} @ 43H2] HAIE 715l 0] EB6H post on AAISICH

SOf2IE thESHAH| El0] FT XZAHSLICE @ X 103 S2F 22|= X% A=0f|M RHSAE shELICL @ 25

In

O
o Fol, AloJ3|Z R 37 Hol Yol IS T3 ek LFUELIC SRR P2 XIZ 1 NUS B SR S
0f2| 2120] YUELICH SO B & T U2 SISOl BRBILICH @ L2l 1IEE M85t 22| =Ml HHE )

5
oh= 2ol chsh Z5xiel MY sljs 230] OG22l ZAE STICHH, 2[00 M3t FMHL. ® Tt

A
HS= HAIOIE0]| AlAIE|0] USLICH HIZ T2t FHIR.

[MEHX]]

@ 432 FAE 712 Sot2(o|ct.

@ Xt 103 St ZH| ALS|0fl M XFESALS 3 ATk
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